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QUESTION 1

Which two of the following NetApp storage appliances do not support the use of synchronous SnapMirror? 

A. F825 

B. FAS960 

C. F87 

D. F820 

Correct Answer: CD 

 

QUESTION 2

In cluster takeover mode, the shared interface assumes the identity of the: 

A. local interface only 

B. failed partner interface only 

C. local and failed partner interfaces 

D. None of the above 

Correct Answer: C 

 

QUESTION 3

Which option of the snap restore command allows you to specify a different directory, as long as the directory already
exists? 

A. snap restore-r 

B. snap restore-d 

C. snap restore-s 

D. snap restore-c 

Correct Answer: A 

 

QUESTION 4

Which one of the following is not recommended as a secondary system for SnapVault? 

A. NearStore R200 
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B. FAS900 series 

C. F700 series 

D. FS80 

Correct Answer: C 

 

QUESTION 5

An aggregate is composed of twelve 36-Gigabyte disks. A drive fails and only 72-Gigabyte spare disks are available
Data ONTAP will then perform what action? 

A. chooses a 72-Gigabyte disk anduse it as is 

B. chooses a 72-Gigabyte disk and right-size it 

C. halts after 24 hours of running in degraded mode 

D. alerts you that there are no 36-Gigabyte disks and wait for one to be inserted 

Correct Answer: B 
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